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(3)
m 36 540 19, 440
VRl =X TR A TFE) EHR 45em JE 1. 5mm
AR P il 2 fe
(4)
m 10 1,067 10, 670
VAR X R RETFE) JRE1- 35 0T 15em
BB JE1. Smm P P A
(5)
m 65 1,254 81,510
G an
= 1 306, 260
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NAWA

il

*

R HARPT -

REARIEE HsRATE

THEXSy « T - FER - 5 ps2) FREAL K B G EHAMm & M| TZ (BB
AWE LT
= 1 3086, 260
ARIE G B
[ ]
= 1 3086, 260
[EEPIE % ¢
= 1 6, 741, 560
IR
= 1 1, 959, 600
HIBGRE
= 1 344, 600
TR
= 1 107, 600
FER IR 2 28
= 1 107, 600
BIGREsET (K3 L)
= 1 237, 000
HIBGERE (FEH L)
= 1 1, 615, 000
Wi
= 1 8,701, 160
s
= 1 4, 306, 000
T AT
= 1 13, 007, 160
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NAWA

il

*

R HARPT -

REARIEE HsRATE

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
AR ETE
e X
= 1 7,812, 095
A% T
= 1 7, 330, 425
BIEI =1 =4 T2
[#%f - Ll ]
= 1 7, 330, 425
YA =4 TemZ# Z2 12embL T 8 dEAs
HURZIIR (20) DS5000 S'EAs # L
1174 (20) DS3000
m2 1,125 5, 853 6, 584, 625
HE R (i B I
m3 113 3,075 347, 475
ALy TAT 7 Wbk
m3 113 3,525 398, 325
X R 1
= 1 181, 860
SN
[#%f - F Ll ]
= 1 181, 860
VAR X R AT E) R 15em &1 Smm
A Al 2 fe
(1)
m 300 500 150, 000
VAR X R AT E) R 15em &1L 5mm
A il 2 fe
(2)
m 59 540 31, 860
G an
= 1 299, 810
ARWE T
= 1 299, 810
AW B
= 1 18, 590
ARIE G B
[ fH ]
= 1 281, 220
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[RE AT « BB Bl R AT N

HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
[EEPIE T ¢
= 1 7,812, 095
B SElTE
= 1 2, 183, 600
HIBGRE
= 1 374, 600
TR
= 1 107, 600
R R R
= 1 107, 600
B mssET (K3 L)
= 1 267, 000
HIBGERE (FEH L)
= 1 1, 809, 000
Wi
= 1 9, 995, 695
B
= 1 4, 820, 000
T AT
= 1 14, 815, 695
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